_ — ¥ERLINZ / Components
W77 =hJL7—74 / Technical Datall —
No. 2 ¥R / Part name = / Pes #ME / Material £ - REAIE / Color+Finish
#ift kLY / Recommended torque 1 a—F+—Jnvy A 7 ILZH A F Rk ADC12 U=, TSus- B (RERILIE)
/-'{ﬁ T\{TJ'#{)H“M3X10 / Hexagonal M3-10 ;: 0.2N-m Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
. ) Rtk ) T ILSHRHAT A6063S-T5 DIIWIR— TSV TILAND) T R
%0)1ﬂt A / Other screws : 0.3N*m ~ 0.6N-m Frame Extruded aluminium A6063S-T5 Silver, Black*Anodized with clear coating
3 IL—L 4 TILEIRE# AB063S-T5 DIVIN— , TIVY-TILIAPY T EE
Panel support frame Extruded aluminium A6063S-T5 Silver, Black*Anodized with clear coating
4 INFIL ) 7 ILSHR A1100P DIWIS— TS -TILIAh
Panel Aluminium A1100P Silver, Black*Anodized
5 H3— : 7 LR A1100P DIWIS— TSV TILIAh
Top cover Aluminium A1100P Silver, Black*Anodized
6 A 1 7 IJLZHR A1100P DIWIN— TS99 -FILTA+
Bottom cover Aluminium A1100P Silver, Black*Anodized
. a—F—H—F o TPE (L3AL) T390, JL—, FAE— LK
N Corner guard TPE (Elastomer) Black , Gray , Navy , Red
g E{tE R (M3 x 8) 1 % L AYE
Screw (Flat head M3 - 8) Steel Nickel plated
9 BRAFER RAFRFHRILEMS x 10) g #% SEE/OA—F
Screw (Hexagonal M3-10) Steel Black trivalent chromate
10 BAAER (RANREMMS x 5) 8 % ZwrLAyE  ZME/OA—k
Screw (Original trapezoid hex head M3 - 5) Steel Nickel plated , Black trivalent chromate
8
1
4 2
3
B (FBERREDOO) / Color Type (End of product number[1)
25 / Code T ILEH—R / Aluminium enclosure aJ—+—H—FK / Corner guard
: 2 y}w\\— ; Silver Zz‘yb// Black % Tite Y
2 JLiN— / Silver — / Gray TAKACHI| #teutahFEMT % N - 7
= 5 —F—H—K4s SH—
S N < JLsN— / Silver RAE—/ Navy A== A—FETLST—R %
S R S JLIN— / Silver LK / Red TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with CORNER GUARD R Soue
B B 55974 / Black 5597% / Black 722 /Approved #&[X/Checked #[X]/Created FIF /Product number -
B G 7\3‘y7 / Black ’7I/f / Gray thif F 57 AUG44-43-50-[10 —
B N J5w% / Black RAE— / Navy N—>/Page
B R 757 / Black Lk / Red Y B /Date 2024/09/26 177
AREOEEEIIHISHINTFERITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




E view
430 +=0.8 (r—R4\#2 / External)

25

B-B(1:85)
= e 1 ~)
h
N
D A-A(1:85) C-C(1:85)
™ N
I e — (-6 3 - S——
§ C c & 5
= 486 423
o
+
S
;! : E (N I A
383
D view A view C view B view
~ 438 508
o
™ hi IéA B
o~ A
« © B s e —— A ™
e & R —————" 2 & E T——=
)
L

F view
50 R52
R24
¢ ! N
mmf/Title
TAKACHI] #REHINTFERIE I H—RETILIS—2 O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE with CORNER GUARD F
7 B/ Approved &/ Checked #1[X]/Created FIFE /Product number RE/Scale
1:8.5
( \}) | é ] iR £ HnF AUG44-43-50-L101 sy
{ERL B /Date 2023/12/12 2 /1
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C {l#x / C Frame

450

43

u
m

R / Front side

D {8I#% / D Frame

2-M3FHY IR
2-M3 Countersunk
¥ RXTEEFEFE / Same on the other side.

M / Front side

22.5

36.7

= 3.3
(-

3.3
2.5

Z M / Back side

T 7

% / Back side

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
GRS

Frame

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:35
iR £ wF ~R—/Page
H44 - D500 {ERL B /Date 2024/09/18 3 /71

AREDEFEIBRRSHINTFER T EITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

380

L)

(M

R

S

2-M3HHY IR
2-M3 Countersunk

M3

14

68 2

45

3.3

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:2
iR E: w4t —
W430 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /\N2R)L / A Panel

380

33

R / Front side

B /\2~JL / B Panel

B#~ti% / Max dim. 372 £0.5

XM / Front side

H3h~ti% / Max dim. 25 £0.3

15

REE—HMAY ﬂ

Surface protective film side

fREES—HMAY

Surface protective film side

Z M / Back side

% / Back side

o]

RE/Scale
1:1

anda/Title
TAKACHI| MXSHADFERIE ISRIL
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number
iR x mF
H44 — W430 {ERL B /Date 2023/12/21

R—T/Page

5 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o
8 5

M@ / Front side

419.4

400

B#~ti% / Max dim. 383+ 0.5

8-@4.5

<Ti% / Max dim. 453+ 0.8

)]

|

fREEL— M

Surface protective film side

2@ / Back side

%/ Title
TAKACHI| ¥X&suahFEHIE HI8— @ CI
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
A2/ Approved %[/ Checked #[X/Created #4% /Product number RIE/Scale
1:4
iR ES it R—T/Page
W430 - D500 fERE/Date  2022/11/16 6 /7

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o
8 <

R / Front side

419.4

400

B#~ti% / Max dim. 383+ 0.5

8-@4.5

<Ti% / Max dim. 453+ 0.8

)]

|

fREEL— M

Surface protective film side

ZEME / Back side

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

a/Title
THhi—

Bottom cover

o]

755/ Approved #R[X|/Checked #[X]/Created #4%/Product number RE/Scale
1:4
iR ES it R—T/Page
W430 - D500 fEfiA/Date  2022/11/16 7/7

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




	
	Sheets and Views
	Model
	AM_VIEW1
	AM_VIEW2
	AM_VIEW3
	AM_VIEW4
	AM_VIEW5
	AM_VIEW6






